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O 2e2thl 22 A+ 12| 146,002
A= 80,2403 x5 260! 104,312
- =58 80,2403 x5 52 20,863
- 4HES 104,312,000 *10% 10,432
- &8s 2,097,000& 13 6H 10,485
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SA g2t
Ha: B
el Jeleddy 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O =4l 8,100,000& 8,100
2 s5=34l 571,900 560,900 11,000
O s83= € HA 250,000,000 250,000
O g=H 55,700
- NS E EHH |F
2,500,000 2,500
- A 7R 35,000,000& 35,000
- 24| |5481(02, 06) 14,000,000 14,000
- XAHX ==HI 350,000 * 12042 4,200
O AEEHl |Xil 165,200
- HEWYH ALK
5,100,000& 5,100
- AN AERAH|
5,000,000& 5,000
- HEgE d8AE 2AH|
10,000,000 10,000
- d&+HelAILR/0) R 22l
15,000,000 15,000
- HEE U2 (HE, 3
15,000,000 15,000
- 22E AEEYl FAY
100,000,000 100,000
- B2l L ||
5,100,000& 5,100
- JEIaAld | 10,000
* NE(SHEA X S0, 28 )S A
10,000,000& 10,000
O HIISXH2REs ER
100,000,000 *13] 100,000
O JIZNZ2X AollEE
100,000 %10 1,000
202 04| 6,030 6,696 A\666
01 2LHA b 6,030 6.69%6 A\B66
O I 6,030
- PIEINER-CES
4,860,000 4,860
- HEE AN 9=
1,170,000& 1,170
206 M=l 304,686 234,686 70,000
01 M=4l 304,686 234,686 70,000
O s =EHI(EE,31A)
20,000,000 20,000
O =ZZA MFH 8717
288,000 288
O B&ERcE 7 384,000 384
O MHE &% A=9E 7Y
5,000,000& 5,000
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SA: a2
H: JRIE
ohelr Oelstddy 29 (CH9: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O AR 4F ASAE 7Y
6.000,0002! 6,000
O HSNYE Y&+ 24357 31,408
- YROIAAL 400! +20kg =210 1,680
-y 3552 *50kg 210 3,728
- FelHA(RIIZHMH)
10,0002 %40 £ *503] 20,000
- 3elHC(RII=HAH)
10,0002 %40 £ 153 6.000
O sITEE BE+H2l AT 31,408
- YROIAALG 40021 *20kg 210 1,680
- 3552 #50kg 2102 3.728
- J2IHA(RIISRIN)
10,0002 %40 £ +503| 20,000
- 3elHC(FII=HAH)
10,0002 %40 4 »153] 6.000
O HEMEE FE+H2I(R0) 428 7Y 101,644
- JtERlX Z 3,185,000 3,185
- gegol 18,000,000 18,000
- g 10,000 *1,000% 10,000
- 23 450,0008! 450
- Mol TE(LAE)
70,000,0002! 70,000
O sITNEE FE+H2I(R0) A2F 7Y 26,542
- JtERIX ZE 3,185,0002 3,185
- megel 15,0002/%1,000% 15,000
- g 8,0002!*1,000% 8,000
- 23 357,0002 357
O A2AAE 2IAE 1Y 46,900
- WIE DY 2L
30021 %4,000kg 1,200
- EANEISE ML
25,000,008 25,000
- 298 a4 6,500,0002 6.500
- L0 E 2LS4E
800,000 800
- SHAHB 2HE 10,000,000 10,000
- 2l HBH| 2,500,0002 2,500
- 012 &K (NX) HIHS
3,00021+300 4 900
O A2 HIIYRAL 235 2 35,112
- OE 110, 00024 52647 29,040
I [UPY 18, 00021 *26424 4,752
- g 5,0002! %2644 1,320
307 BIZHOIH 174,000 160,000 14,000
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SA g2t
Ha: B
gl Jelgddy 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 174,000 160,000 14,000
O Jeletdd HasSsdESY LA
Ared 174,000,000& 174,000
401 AIEHIX R0 530,000 580,000 50,000
01 A28l 530,000 580,000 /50,000
O Jelatddt HIISXCIAME HES 3
At 500,000
- a2A22x(UEe 2 ST A S)
250,000,000 250,000
- HEHIIZ S dEMgD| /S Xel 89
250,000,000 250,000
O Ot 2401 At
30,000,000& 30,000
405 KHakE SH 40,000 0 40,000
01 AL =S F=H| 40,000 0 40,000
O Degddy IEEXS(HIIR) FuHl
40,000,000 *1CH 40,000
FET HOISXEIANE(22E) ERIAI(=HI) 2,120,000 300,000 1,820,000
= 2,120,000
401 Al HIZL S 0HYI 2,120,000 300,000 1,820,000
= 2,120,000
01 A28l 2,120,000 300,000 1,820,000
O HEZ HIISHM2IAIZ(A2AAIE) EXIA
& (=2H1) 2,120,000,000& 2,120,000
= 2,120,000
HET MEXEISHEH(HEE dEF) XA (= 363,000 0 363,000
bl)
= 109,000
[Ea 254,000
401 AIEHIZ R HYI 363,000 0 363,000
= 109,000
= 254,000
01 Al&H| 363,000 0 363,000
O ez dEHds=dE(Hegg dEE)
ERA (=8I) 363,000,000& 363,000
= 109,000
Ea 254,000
HYIPH(2Z2e|n) 54,050 62,690 A\8,640
JlE2gsl(gZ el 54,050 62,690 28,640
JlEZghl/az e 24,320 30,740 26,420
201 er23| 16,350 22,500 26,150
01 At2teltl 16,350 22,500 26,180
O dit=ZH| 4,500,000 4,500
OvlEx=sz 6,000,000& 6,000
O =S4 5,850,000& 5,850
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SN SHRED
M AAMHAL(SF2|)
CHel: Jl2dU|(stZ 2l (S &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
202 04| 2,430 2,700 A270
01 =LHAHI 2,430 2,700 2270
O sZ2cgR=a o
2,430,000 2,430
203 =4l 5,040 5,040
04 PAE2EERFAH 5,040 5,040
O RA2ELE=4H| 5,040,000& 5,040
405 XHAHE SHI 500 500
01 TR ESF SHI 500 500
O BM &12 2372
500,000& 500
Jl23Hl/83 ks 10,750 11,700 A950
201 L2 6,700 7,200 A500
01 AtR22telbl 6,700 7,200 A500
O ge+=EH| 4,000,000 4,000
O =4 2,700,000 2,700
202 044l 4,050 4,500 AN450
01 S| 4,050 4,500 A450
O &3Xx LRF& 0
4,050,000 4,050
Jl23dl/8Z2 83t 12,550 13,050 A500
201 L2 8,050 8,550 A500
01 AtR22telbl 8,050 8,550 A500
O ge+=EH| 4,000,000& 4,000
O aZ&ag: =4 1=l
1,350,000 1,350
(@R=131:] 2,700,000 2,700
202 04| 4,500 4,500
01 =LHNHI 4,500 4,500
O &8s RF& 0]
4,500,000 4,500
Jl2ggl/ st E Mg 6,430 7,200 ATT0
201 L= 4,000 4,500 A500
01 AFS2t2ltl 4,000 4,500 A500
O get=ZH| 4,000,000 4,000
202 044l 2,430 2,700 A270
01 ZLHA LI 2,430 2,700 A270
O Jelstddle HRF8 o]
2,430,000 2,430




